SUMMARY OF ESSENTIAL TRIGONOMETRY.
1. Sketch these graphs in the intervals required. (mark the axes clearly)

(a)   y = sin x         for   0 ( x ( 4π  rads

 

(b)  y = cos x    for    -900 ( x (  3600

 

2.  Change to degrees :

	(a)   π rads =


	(b)   π   rad  = 

       3 
	(c)  2 π   rad  = 

        3

	(d)   π   rad  = 

       4
	(e)  5π   rad  = 

       4
	(f)   π      rad  = 

      10


3.  Change to radians :

	(a)  3600  =


	(b) 300
	(c)  2100 =

	(d)    200 =

	(d) 400
	(e)  10 =


4. Find the EXACT value of :

	(a)  sin 00 =
	(b)  cos 00 =
	(c) sin 900 =



	(d) cos 900 = 


	(e) sin (–1800)
	(f) cos 1800

	(g)  sin 450
	(h) cos 600 =
	(i)  tan 600


	(j) sin π    =  
          3


	(k)  cos π  =
	(l)  tan(–1350)= 


5.  If  P = v + tan v     
    find the exact value of   P   if  v = π
                                                         4
______________________________________________________________________
6.  Find the exact value of      a b2                                                                                                                        
                                                c

if   a = sin π    b = cos π    and   c = tan π
                 3                                           4
______________________________________________________________________
7.  Explain why  sin2 A  +  cos2 A = 1 

______________________________________________________________________
8.  Given that  sin2 A  +  cos2 A = 1    
    prove that  1 + cot2A = cosec2 A
______________________________________________________________________
9.  Use the appropriate formula to help 

     to eliminate θ  from the equations :

    x = 6 + 2tan θ    and  y = 5 + sec θ 
______________________________________________________________________
10.  Use the appropriate formulae in the following
(a)  Expand    cos (X – Y) =
(b)  Expand   tan (X + Y) =
(c)  Express   cos 5x + cos 3x  as a PRODUCT =
(d)  Express  as the sum of two cosines     2cos 9x cos3x =
______________________________________________________________________
11. Find the general solutions of :
	a)   sin x = √3

                    2


	(b)  cos x =  – 1 

                      √2

	(c)  cos 3x = ½ 


	(d) sin 2x = – 1


SUMMARY OF ESSENTIAL TRIGONOMETRY. ANSWERS

1. Sketch these graphs in the intervals required. (mark the axes clearly)

(a)   y = sin x         for   0 ( x ( 4π  rads      0 ( x ( 720  

 

          1

                              π                2π             3π               4π   
                              180            360           540             720

         -1

(b)  y = cos x    for    -900 ( x (  3600

 

                              1

                -90                         90                180                  270                  360

                             -1

2.  Change to degrees :

	(a)   π rads =   180


	(b)   π   rad  =  60

       3 
	(c)  2 π   rad  =   120

        3

	(d)   π   rad  =    45

       4
	(e)  5π   rad  =   225

       4
	(f)   π      rad  =  18

      10


3.  Change to radians :

	(a)  3600  =   2 π

	(b) 300  =   π/6
	(c)  2100 =  7 π/6

	(d)    200 =  π/9

	(d) 400 = 2 π/9
	(e)  10 =   π/180


4. Find the EXACT value of :

	(a)  sin 00 =   0
	(b)  cos 00 =   1
	(c) sin 900 = 1



	(d) cos 900 = 0


	(e) sin (–1800) =  0
	(f) cos 1800 = -1 

	(g)  sin 450 = 1/√2   or √2

                                     2
	(h) cos 600 =  ½ 
	(i)  tan 600 = √3



	(j) sin π    =  √3 / 2

          3


	(k)  cos π  =  -1
	(l)  tan(–1350)= +1


5.  If  P = v + tan v     

    find the exact value of   P   if  v = π       =   π   + 1  
                                                           4            4

______________________________________________________________________

6.  Find the exact value of      a b2                                                                                                                        

                                                  c

if   a = sin π    b = cos π    and   c = tan π            Ans =  √3  × 1   =  √3

                 3                                            4                             2             2

______________________________________________________________________

7.  Explain why  sin2 A  +  cos2 A = 1 

           1            y                  By Pythag      x2 + y2 = 12
                                                     So       cos2θ + sin2 θ = 1 
             x

______________________________________________________________________

8.  Given that  sin2 A  +  cos2 A = 1               Just divide by  sin2A

    prove that  1 + cot2A = cosec2 A               sin2 A  +  cos2 A =    1  
                                                                      sin2 A       sin2 A      sin2A

                                                                   so   1      +   cot2A  = cosec2A

______________________________________________________________________

9.  Use the appropriate formula to help           tan θ = x – 6           sec θ = y – 5 

     to eliminate θ  from the equations :                           2

 x = 6 + 2tan θ    and  y = 5 + sec θ     using tan2 θ + 1 = sec2 θ     (x-6)2    + 1 = (y – 5)2
                                                                                                              4

______________________________________________________________________

10.  Use the appropriate formulae in the following

(a)  Expand    cos (X – Y) =  cosXcosY + sinXsinY

(b)  Expand   tan (X + Y) =  (tanX + tanY) / (1 – tanXtanY)

(c)  Express   cos 5x + cos 3x  as a PRODUCT = 2 cos (4x) cos (x)

(d)  Express  as the sum of two cosines     2cos 9x cos3x =  cos12x + cos 6x

11. Find the general solutions of :

	a)   sin x = √3

                    2

x = 60 + 360n   or  120 + 360n


	(b)  cos x =  – 1 

                      √2

x = 135 + 360n or  225 + 360n

	(c)  cos 3x = ½ 

3x = 60 + 360n   or  300 + 360n

 x  = 20 + 120n   or  100 + 120n
	(d) sin 2x = – 1 

2x = 270 + 360n

  x  = 135 + 180n


θ








